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2 ~ A sociologist is interested Iin the relationship between education and
income, Data are collected from nine individuals as follows :

Individual Education Income
(measured in years of | (measured in
formal schooling) thousands of dollars)

1 4 6

2 6 12

3 8 14

4 11 10

5 12 17

6 14 16

I 16 13

8 17 16

9 20 19

a. Compute the Pearson r for these data. (10 4 )

b. Using these data, test the null hypothesis Ho:p = 0 against Hi: p >0. Use
a=.05 (10 %~ )

c. Construct Clgs for p. Remember that the critical value for the confidence
interval will be different from that the test of the hypothesis. (5 4 )
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